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The mean (Expectation) (1), The variance (O 2) , The standard deviation (O),
The coefticient of correlation (r) .
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1-  If the expectation of the following probability

distribution equals 2 , thenk = ...........
Xy 1 2 k
f(x) 0.1 0.8 0.1
@ 3 ® 4
© s @ s

S Iz 5530 w3531 OIS 13)

8 Y \ S~
SV A Y U)o
......... =8 06 ¥ ol
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2- A 42- student classroom has 28 study English, TA e QUL £ 4 (> b
21 study Italian and 7 study both languages. Oy YV o 3dao¥) () sply

A student is randomly chosen , Calculate the Sl e sl O ey Ve YUY
probability that the student chosen studies: Bl st bl 1 e s

i) one language at least el I oy O et

i) English if He (She) is already studying Italian. Rt e sy & (i

Lls 087130 & 5desy1 AR00 (i)
A
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3- If X is a continuous random variable whose
probability density function
x—1
. —_— < <
1S: f(X)={8 1 sx=5

zero ,otherwise

Find: (i) P(x <3) (i) P(2 <x < 3)

15 Shate Bl sie ame ~m o157 13)
2 4 LYl 23S

°>U“>\‘ Vo

A P
3 hae s ,@}'Q‘“)’

(F >~ ) J(0) amsls
(Y >~ >v)J (ii)
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4- 1 P(A)=0.7,P(B)=04,P(ANB)=0.2,then | . ¢_ (). ,v=(h)J oS 13l
(7A): ) IR L o o - xo(nh]

® 3 ®
© 1 @

Blw onlun
~lo
~|-
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5-  Ifall the points in a scatter diagram lie on a straight | ;L&Y I 5 L) — CRIgH|
line whose slope is positive ,then the correlation OB (g0 dls it L e -
coefficient between the two variables equals | ... Gl o el o LY Jeles

@ 1 ® ; + @ 30
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6- Answer only one of the following items: T (o p2EN G| (5 i
A) If X is a normal random variable whose mean p = Gk Golsis 15ze o O™ 13) ()
48 and its standard deviation ¢ = 8 and P (X > k)
= 0.1587 ,then find the value of k
B) If the weekly salary of the workers of a factory
follow a normal distribution whose mean = 75 . . . t
pounds and its standard deviation = 10 pounds, JL“’J S ?\”” = ()
then find the percentage of the number of workers bl b5 5 “5?‘ dw‘ ~a
whose salaries lie between 60 and 85 pounds. Gl Sty L Vo Lawsias
& sl Al asle ¢ olgp V-

Solnadl bl >l g A = U alawgie
VAV =(8 <« ~m) QK)/\:G
EENCRPE

Agw= A0 T
10 LA 5
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7-  If A and B are two independent event such that : LIPS SRS, SO I (|
P(B)=0.6,P(ANB)=0.12, W= (OGN T s T=(0) Jée
then P(A) = S(1)J ok

@) os b 04 W@ o (D
© 03 @ o2 RO e
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8-  IfZis a standard normal variable such that : U has Uands 1ite 02 087 130
P(-a<Z<a)=0.79,thena=......... VA= (P e = 1) 0 o
............. =Pob

@) 0.398 ® 12 v @ o (D
© 127 @ o027 v Ly 3

13 At aals
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9-  From the data of the following table: : S 5923l BBy e
X 80 60 20 30 40 50 o [ g Y| Y [ A ]
y 75 80 40 50 60 70 Ve [T ]oe [ & [ A Vo | o

Calculate Spearman’s rank correlation coefficient Oy 331 LS Jelae s
between the values of X and ¥ and identify its type.

.4.0}3.)«\:-} u&cu«vu.o

14 LA 5
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10- Find the mean and the standard deviation for the

following probability distribution:

o ol Oleo¥ly Jawgdl assl

S el a5l

X% 1 2 3 4 ¢ ¥ ¥ \ g
\ v Y \

JC T = N ol Bl ol el [ B

16 LA 5
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11- Inthe experiment for rolling a regular die once, the o0 (Ja-»n 39 e fWBl & 23 2
probability of appearing the number 3 known that u\» Lo ¥ ouadl ) el Jlat! ¢ Buslg
the appearing number isoddis ..........~~ | 5263,8 ,allall suall

®

® ; +@ +0

w |

©®
®
|«
©,

‘,
®
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12-  If x is a normal random variable whose mean (1) | Uab Glyis 3aie ~ 08 130
and its standard deviation (6 ) , O ol @) sls L alawsie
theHP(XSH+1.56)= ................. =(G\,°+u>‘\f“)dﬁ)§

@) 04332 ® 0.0668 S @ ey (D
© 0.5668 @ 09332 Lavr () Lo
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13- Ansvs{er only one item from the items of this V= o L v= o KG\ K ]
questions :

fYx=3,Yy=12,Yx*=19,Yy*=94,
Yxy=4landn==6
Find : (first) The correlation coefficient between the

L‘\i:vuﬁz ¢ V4 =YUAZ
T2 V= e e K
1B Y (50 5E0Y S| (e e B

values of X and ¥ O sl LU Jelas st Yl
(second) The regression line equation Y on X L

(o S oo sl Las Dslas sl 6

20
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